Attachment F: Cost De-Escalation Methodology
The following methodology is used to calculate constant from current year dollars using the
Field-specified escalation rates:

X99 = yn
(l+rn)(1+rn—1) e (l+r99)

Where |, = escalation rate for year “n”
y, = current year dollar value for year “n”
Xg9 = CONstant 1999 dollar value for year “n”
n = fiscal year

For the five year blocks (2011-2070), each year in the 5-year block is assigned 1/5 of the 5-year
block total before values are de-escalated. The escalation rate for the 5-year block is applied to
each year of the block. Annual values are de-escalated. The years in the 5-year block are
summed after de-escalation to create the de-escalated value for the 5-year block.
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